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F las h bac k 1] Year5 Week4 Day1
LXXII

o,
The temperature drops by 12° to —4°
What was the original temperature?

Put the following numbers in descending order.
8,34 8,43l 8,742 80,746

Write the number 327 in Roman Numerals.

Complete the number sentence using <, > or =

td () 0%
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1 Add 542 to 72,819
2) Round 692,827 to the nearest 100,000
3)  Complete the table.

Original number | Add 100 Add 1,000
3,642

9,94

Find all the factor pairs for 20
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)] Subtract 7432 from 81,922

2) Complete the sequence.
8,327, 8317, 8307, P

3) Round 42,697 to the nearest ten.

Divide 92 by 4
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Add 30,000 to 49,326

What is the value of the digit 5 in the number
S4,347

Find the missing number

72,920 = 70,000 + + 820

How many tenths make | whole?
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Subtract 44,000 from 94,726

Complete the sequence.

28,18,8—, —

Round 89,462 to the nearest 100

Calculate the perimeter of the rectangle.
10 om

Yem





